g)
$$\int e^{2x} + 3\sin 5x \, dx = \frac{1}{2}e^{2x} - 3\frac{\cos 5x}{5} + C$$

MathsLearningZone.weebly.com

Get in the right zone...

$$\begin{split} h) \int_{X^{2} ZS} \frac{x^{2}}{2S} dx &= \int_{X^{2}} 1 + \frac{2S}{(x \cdot S)(x + S)} dx \\ &= \int_{X^{2} - S} 1 + \frac{5/4}{x + 5} - \frac{5/4}{x + 5} dx \\ &= \int_{X^{2} - S} 1 + \frac{5/4}{x + 5} - \frac{5/4}{x + 5} dx \\ &= \int_{X^{2} - S} 1 + \frac{5}{2} \left\{ h_{x} | x - S | - \frac{5}{2} \left(h_{x} | x + 5 | + C \right) \right\} \\ &= \int_{X^{2} - S} 1 + \frac{5}{2} \left\{ h_{x} | x - S | - \frac{5}{2} \left(h_{x} | x + 5 | + C \right) \right\} \\ &= \int_{X^{2} - S} 1 + \frac{5}{2} \left\{ h_{x} | x - 5 | - \frac{5}{2} \left(h_{x} | x + 5 | + C \right) \right\} \\ &= \int_{X^{2} - S} 1 + \frac{5}{2} \left\{ h_{x} | x - 5 | - \frac{5}{2} \left(h_{x} | x + 5 | + C \right) \right\} \\ &= \int_{X^{2} - S} 1 + \frac{5}{2} \left\{ h_{x} | x - 5 | - \frac{5}{2} \left(h_{x} | x + 5 | + C \right) \right\} \\ &= \int_{X^{2} - S} 1 + \frac{5}{2} \left\{ h_{x} | x - 5 | - \frac{5}{2} \left(h_{x} | x + 5 | + C \right) \right\} \\ &= \int_{X^{2} - S} 1 + \frac{5}{2} \left\{ h_{x} | x - 5 | - \frac{5}{2} \left(h_{x} | x + 5 | + C \right) \right\} \\ &= \int_{X^{2} - S} 1 + \frac{5}{2} \left\{ h_{x} | x - 5 | - \frac{5}{2} \left(h_{x} | x + 5 | + C \right) \right\} \\ &= \int_{X^{2} - S} 1 + \frac{5}{2} \left\{ h_{x} | x - 5 | - \frac{5}{2} \left(h_{x} | x + 9 | x + C \right) \right\} \\ &= \int_{X^{2} - S} 1 + \frac{5}{2} \left\{ h_{x} | x - 5 | - \frac{5}{2} \left(h_{x} | x + 9 | x + C \right) \right\} \\ &= \int_{X^{2} - S} 1 + \frac{5}{2} \left\{ h_{x} | x - 5 | - \frac{5}{4} \left\{ h_{x} | x - \frac{5}{4} + \frac{5}{2} \left\{ h_{x} | x - \frac{5}{4} + \frac{5}{4} + \frac{5}{2} \left\{ h_{x} | x - \frac{5}{4} + \frac{5}{4} + \frac{5}{2} \left\{ h_{x} | x - \frac{5}{4} + \frac{5}{4} + \frac{5}{2} \left\{ h_{x} | x - \frac{5}{4} + \frac{5}{2} \left\{ h_{x} | x - \frac{5}{4} + \frac{5}{4} + \frac{5}{2} \left\{ h_{x} | x - \frac{5}{4} + \frac{5}{4} + \frac{5}{2} \left\{ h_{x} | x - \frac{5}{4} + \frac{5}{4}$$

$$\int ((\omega t \times + (\omega \sec x))^{2} dx = \int (\omega t^{2} \times + 2\omega t \times \cos \sec x + \omega \sec^{2} \times dx)$$
$$= \int (\omega \sec^{2} \times -1) + 2\omega t \times \cos \sec x + \cos \sec^{2} \times dx$$
$$= -\omega t \times - x - 2\omega \sec x - \omega t \times + C$$

Get in the right zone...

MathsLearningZone.weebly.com

$$\begin{split} h & \int \frac{2 \sin x}{5 + 2 \cos x} \, dx = \int -\frac{1}{2} \cdot \frac{2}{v} \, dv = \int -\frac{1}{v} \, dv & u = 5 + \frac{1}{v} \, dv \\ & = -\frac{1}{v} \, \frac{1}{v} \, v = \frac{1}{v} \, \frac{1}$$

Get in the right zone...

MathsLearningZone.weebly.com

$$v) \int \frac{4\sin^2 x - \cos x}{\sin^2 x} \, dx = \int \frac{4\sin^2 x}{\sin^2 x} - \frac{\cos x}{\sin x} \cdot \frac{1}{\sin x} \, dx = \int 4 - \cot x \cos x \, dx$$
$$= 4x + \cos x + C$$

$$\begin{array}{l} \text{W} \end{pmatrix} \int 4e^{-2x} + \frac{1}{x+3} - 6e^{x}(5x) \, dx = \int 4e^{-2x} + \frac{1}{x+3} - (6e^{x}e^{2x} - 1) \, dx \\ \\ = \int \left(4e^{-2x} + \frac{1}{x+3} - 6e^{x}e^{2x} - 1\right) \, dx \\ \\ = \frac{4e^{-2x}}{-2} + \ln|x+3| + \frac{6e^{x}}{5} + x + c \end{array}$$

Get in the right zone...